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(1) fz)=2+2, C:z2(t)=t+t%, 05t<1

C:z(t)=t>+ti, 0St<1

@) f(z)=2-7

(3) fla+yi)=a+y%, C:2(t)=t>—ti, -1<t<1
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ROBIE f(2) = u(w,y) + v(w,y) i BERDED, HE
L, FHIChIUE, MBI f/(2) 2RDA S0,

(1) f(z) = 2(a? = 3y?) +y(32% —y?)i

(2) f(2) = (2% =y + 2xy) + (y* — 2 — 2xy) i

B%L f(2) = % z flz+yi) = u(z,y) +v(z,y)i &
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KOFEHBIEL f(2) 1Rt L, BRI E R 7 X 0o, (6] kowFHD () L BB, 7213 (i) BIHE L R
DTN % RDZ S\,

(1) f(2) = (322 + iz — 1)3
(1) z = 2(4 + 3i) — (9 + 4i)

(2) 2 = (7 — 3i)(4 + 50)
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12+ 23
zZ = .
1+1

4
4) z= (cos% +1 sin%)
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